A NG EZAID

2 NS o8 HL(FELXSMNL/XALTAI)
el XNE o8 He EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
KIS E Al 3,639,915 2,785,448 854,467
= 504,000
== 3,135,915
XAME 8 WL (FELXAMNL/NLALZAI) 3,569,690 2,715,675 854,015
[ 504,000
= 3,065,690
s o8 g 3,569,690 2,715,675 854,015
= 504,000
=S 3,065,690
JETA & 2EnS HE FA 167,400 184,850 A17,450
201 er2 3| 76,050 84,500 28,450
01 At2tlt] 76,080 84,500 A\8,450
OXNSCAIZ0E 223 29 72,900
OAHEWS AIH & LFAHE 83 Iz 3,150
202 O] 26,350 26,350
01 ZLHA b 26,350 26,350
OXISDHEAIY =& & SXl=el 12,000
OALAIILINE &It =& & AEHE 7,000
Odt=gdc| AR & AEEd 7,350
203 HR=4AH] 65,000 74,000 29,000
03 A=A PR FE| 65,000 74,000 29,000
OAHLWE20F AIMG R =8 65,000
WGt Belst TAlgd xd 2,392,290 2,049,325 342,965
202 04| 14,790 12,325 2,465
01 =LHOLI 14,790 12,325 2,465
OZAIAE & HEHR2 = 10,790
OZANE=SER A 4,000
403 XXM SAH=0l 2,377,500 2,032,000 345,500
01 A= 2L 2,377,500 2,032,000 345,500
O=AAHEEZ JHE L JHA 785,000
OZAISE HES 1,592,500
23 KA S A JH = 30,000 31,500 1,500
201 2= 30,000 31,500 A1,500
01 At22t2lH] 15,000 18,000 23,000
OZ& N&EH X A 2 15,000
03 Ar=EHI 15,000 13,500 1,500
OZ& N&H LA A A 15,000
ANAEHEZ HHIAHY 400,000 0 400,000
403 MR HHMSAHE01H 400,000 0 400,000
01 MXIHH A 222 400,000 0 400,000
OXENCZ HHIAY 400,000
2 AE - AS =Eal KA 70,000 81,000 211,000
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308 XXM SOl 70,000 81,000 211,000

01 MRS SEXS 70,000 81,000 A11,000
O& A4 - A= Si&z] Al 70,000

NGALEHA 24 NEI|2 Al 6,000 7,000 21,000

303 L= 6,000 7,000 21,000

01 o= 6,000 7,000 A1,000
OXNSHALYEH 2+ XNEI|2 Aled 6,000

ZN0IZESE XYM oIk X&(=1) 504,000 0 504,000
= 504,000

308 AXIHSOIA 504,000 0 504,000
[ 504,000

01 AN N B2 LS 504,000 0 504,000
OFII0IHHSH XL OIK+ K& 504,000
= 504,000

Y2 AZHI(XIF Al (D1EHDIIEL 70,225 69,773 452

=1l 70,225 69,773 452

N2g Jl=38H| 70,225 69,773 452

201 Ler23 | 47,705 46,311 1,394

01 At22te|H] 47,705 46,311 1,39%4
SEN2S AIR2ell 47,705

202 048l 11,000 12,002 1,002

01 =LHOHI 11,000 12,002 A1,002
SMEE UL 11,000

203 gF=4| 11,520 11,460 60

01 J|22gdR=aH] 6.600 6,600 0
o=z 6,600

M SR 4,920 4,860 60
©312! 014t 4,920
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